E] Compute and record the deviation for each 15°.

SHIP'S HEAD TRUE VARIA- | MAGNETIC COMPASS
PSTAC DIRECTION | TION HEADING BEARING OF DEVIATION
RANGE RANGE RANGE
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os0* o 0w
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150* 049°5 oeSW
165* 047°5 1°5E
180* 047+ 2°0E
195* 048°5 2°5E
210 o048 I*E
25 045°5 A*5E
Fild O4s* 4*0E
255 [ L] 1*BE
e Lol I0E
ny oart 2°0E
300" 04T7*5 1*SE
s 048" 1*0E
330" 048°5 0°SE
345* 050* 1°0W
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THIS GTA MAY BE ORDERED THROUGH YOUR LOCAL TRAINING AND
AUDIOVISUAL SUPPORT OFFICE.
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THE PURPOSE OF THIS GTA IS TO SHOW YOU THE STEPS FOR
DETERMINING DEVIATION BY SWINGING SHIP ON A RANGE.
DEVIATION WILL BE CHECKED FOREVERY 15° OF SHIP'S HEADING. THE
SHIP'S MASTER WILL CONN THE SHIP WHILE SWINGING SHIP ON THE
RANGE. YOU WILL TAKE THE BEARINGS OF THE RANGE, RECORD THEM
AND COMPUTE THE DEVIATION.

Headquarters, Department of the Army
Graphic Training Aid July 1982
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To determine the local variation, i | wol o

look at the "compass rose” U ig o | =7

nearest your area. The cenler of ;5‘* £ aI‘ ¥
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EXAMPLE: e, o ’

Date on the "compass rose” Is 1974, varlation Is 7°15'E, and the s, l"!f----r L " Observe and record the

variation decreases 5° annually. L compass bearing of the range at

(1974-1977 = 3 yrs.) 3 x 5’ = -15,
7°15'-15" = 7°E variation for 1977.

the instant the two objects are in
line.




